X AN >\ 4 —_—
10 114&;«1i\wfgﬁﬁ-% AR ==> RI0 10
1 NS: Bkt ﬁ%%(ﬁﬁ@ 12 12 NS: R &i H(EAc) 3 P:| 1218 : 7.82 | Total VP: 87.63 Rank:
EW: & E552EAC) -3 EW: [RiBZ B {£(F0) -12 IMP:| 22 16 1
I - N
# 21 » 87 4SW5 -450 Mean: 4SW4 420 1.0 1 ||# 22 & KT942 3HW3 -140 Mean: 3HW-2 200 60 1
v A864 4SE5 -450 -450  4SE4 420 10 1 v K6 2SN-1-50 -60  3HW-1 100 40 1
¢ QT764 Dif: 0 NS:0 4SW5 450 0.0 7 » AJB2 Dif: -90 NS:-2 3SN-1 50 0.0 3
» 86 IMP: 0 EW:0 4SE5 450 0.0 2 a T3 IMP: -3 EW:0 2SN-1 50 0.0 2
» KQ952 s AJ43 4SW6 480 1.0 3 Q6 # J85 4SN-2 100 1.0 1
v K7 v QJT2 v Q9743 —_ v AT8 3SN-2 100 1.0 1
*J | ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 3CE3 110 20 1
®¢VeN ,T6 PIVEON LAT3 2HW4 170 30 1
N ~1~~~ 9953 N ~1~1~ ¢J52 3HW5 200 -40 1
S ~1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 4SWS5 -650 Mean: 5CE6 -620 70 1 # 24 » Q4 3NW-2 100 Mean: 4HW-5 250 70 1
v 976432 4SW5 -650 -910 4SW6 -680 6.0 2 v 9842 5DW-2 100 -20 3NW-3 150 50 1
¢ J542 Dif: 0 NS:6 4SW5 650 6.0 6 ¢ 98 Dif: 0 NS:3 5DW-2 100 30 1
a2 IMP: 0 EW:-6 6CE7 1390 -10.0 1 a J7532 IMP: 0 EW:-3 3NW-2 100 30 4
& AK873 a J94 6CE6 <1370 <100 3 ||a J2 & AT75 3NE-1 50 20 3
v + v K85 6SW6 1430 -11.0 1 ||v JT53 v KQ7 2NE5 210 50 1
+ Q97 + K6 + AKQT2 ¢ J764 3NW3 400 9.0 1
& KQ543 S & AJ976 &8 & K9 3NE4 430 9.0 1
®eveN o652 ®¢VveN L K863 3NE3 400 9.0 1
N ~~~~~ vAQJT N 3~~~~ 9A6
S ~~~~~ 4ATS83 S 3~~~~ 453
E 6~~55 aT8 E ~43~2 & AQT6
W 6~~54 W ~32~+~
# 25 » 9872 6SE6 -1430 Mean: 7SE-1 100 13.0 1 ||# 26 » 52 3SW-2200 Mean: 3SW-2 200 50 2
v J7 4SW6 -680 -720  7NW-1 100 13.0 2 v AKQ9 3CS-1-100 o 3SW-1 100 30 1
+ KT64 Dif: -750 NS:-12 6SE-1 100 13.0 1 + K65 Dif: 300 NS:5 2SW-1 100 30 1
» K73 IMP: -13 EW:-1 4SE5 650 20 1 a J972 IMP: 7 EW:3 2CS2 90 30 1
46 & AKQJT53 5SE6 680 1.0 1 ||s AKQ986 » J4 1NS1 0 30 1
v AT986 v Q4 4SW6 680 10 1 ||v 76 + v 8543 3HN-1 100 3.0 1
+ AJ3 ¢ Q5 4NW6 690 10 1 ||e QT84 ¢ 932 3CS-1 100 30 5
& QJT9 & A8 4SE7 710 00 1 ||aK & QT83 2sW2 110 30 2
®IVEON o4 6SE6 1430 -12.0 5 PEVEN L,T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~~ 49872 S 2~2~1 ¢AJS
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 » AQ5 5HE-2100 Mean: 5CXS5 550 9.0 1 ||# 28 » A9 5HXE-4 800 Mean: 5HXE-4 800 7.0 1
v4 4HXE-1100 170  5CXN5 550 9.0 3 oT 3NS3 600 510 4SS5 650 4.0 1
4 65 Dif: 0 NS:-2 3CN4 130 1.0 1 » QJ974 Dif: 200 NS:7 3NS5 660 4.0 1
a J987632 IMP: 0 EW:2 5HE-2 100 20 1 » AQT76 IMP: 5 EW:-3 5DN5 600 3.0 2
# K8762 94 4HXE-1 100 2.0 1 ||a J742 s T8 484 620 3.0 2
v KQ73 v A9865 4HW-1 50 -30 3||v95 | v KQ86432 3NS4 630 3.0 2
¢ J82 + KQT4 4HE-1 50 -3.0 2 ||e K863 * A 3NS3 600 3.0 2
a4 & KT 3HE3 140 7.0 2 ||a& J92 & 854 4HXE-3 500 0.0 1
*eveN LJT3 PIVEN L KQ653 4DN5 150 8.0 1
N 5~~~2 ¢JT2 N 55~44 o AJ7 6NXS-2  -500 -14.0 1
S 5~~~2 ¢A973 S 55~44 o7T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 » 92 4HN4 620 Mean: 4HN5 650 20 1 # 30 & T93 4SS4 420 Mean: 4SS4 420 50 6
v AQJ97 4HN4 620 570  4HN4 620 20 1M v A97 4SS-1-50 240  3NS3 400 40 1
¢ J5 Dif: 0 NS:2 3NS4 630 2.0 1 +» KQ96 Dif: 470 NS:5 3NN3 400 40 2
» A865 IMP: 0 EW:-2 4HN-1 100 -12.0 1 » K63 IMP: 10 EW:7 4SS-1 50 7.0 4
» AT74 N # J85 s AJ7 » 82 3NS-2 100 -80 1
v KT2 v 86 v Q642 v T53
+ Q984 + ¢ T32 o JT ¢ A8732
& T7 & QJ942 & QT97 & J52
*eveN L, KQ63 ®+veN L KQ654
N ~~4~4 ¢543 N ~~~42 v KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢54
E ~~~~~ aK3 E ~~~~~ &A84
W~~~~~ W~~~~~




X AW >\ 4 —_—
10 114&;«1i\wfgﬁﬁ-% AR = R0 10
2 NS: BEZE[) lﬁ?ﬁ(ﬁﬁoﬂf 13 NS: MK £ Eiﬁ(EﬁC) -14 P:{ 15.29 : 4.71 Total VP: 105.90 Rank:
EW: B&iE £55%MEAC) 16 EW: REE BF/(FH0) -4 IMP:| 23 : 6 6
I - N
# 21 » 87 4SW5 -450 Mean: 4SW4 420 1.0 1 ||# 22 & KT942 3SN-1-50 Mean: 3HW-2 200 60 1
v A864 4SWS5 -450 -450 4SE4 420 10 1 v K6 3HW-2200 -60  3HW-1 100 40 1
¢ QT764 Dif: 0 NS:0 4SW5 450 0.0 7 » AJB2 Dif: 250 NS:0 3SN-1 50 0.0 3
» 86 IMP: 0 EW:0 4SE5 450 0.0 2 & T3 IMP: -6 EW:-6 2SN-1 50 0.0 2
» KQ952 s AJ43 4SW6 480 1.0 3 Q6 4 J85 4SN-2 100 1.0 1
v K7 v QJT2 v Q9743 —_ v AT8 3SN-2 4100 1.0 1
*J | ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 3CE3 110 20 1
®IVeN ,T6 PIVEeN LAT3 2HW4 170 30 1
N ~1~~~ 9953 N ~1~1~ ¢J52 3HWS5 200 -40 1
S ~1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 4SWS5 -650 Mean: 5CE6 -620 70 1 # 24 » Q4 3NW-2 100 Mean: 4HW-5 250 70 1
v 976432 4SW5 -650 -910 4SW6 -680 6.0 2 v 9842 3NW-2100 -20 3NW-3 150 50 1
¢ J542 Dif: 0 NS:6 4SW5 650 6.0 6 ¢ 98 Dif: 0 NS:3 5DW-2 100 30 1
a2 IMP: 0 EW:-6 6CE7 1390 -10.0 1 a J7532 IMP: 0 EW:-3 3NW-2 100 30 4
& AK873 a J94 6CE6 <1370 <100 3 ||a J2 & AT75 3NE-1 50 20 3
v + v K85 6SW6 1430 -11.0 1 ||v JT53 v KQ7 2NE5 210 50 1
+ Q97 + K6 + AKQT2 ¢ J764 3NW3 400 90 1
& KQ543 S & AJ976 &8 & K9 3NE4 430 9.0 1
®IVEeN o652 ®¢VveN L K863 3NE3 400 9.0 1
N ~~~~~ vAQJT N 3~~~~ ¢A6
S ~~~~~ 4ATS83 S 3~~~~ 453
E 6~~55 aT8 E ~43~2 &AQT6
W 6~~54 W ~32~+~
# 25 » 9872 6SE6 -1430 Mean: 7SE-1 100 13.0 1 [|# 26 » 52 3CS-1-100 Mean: 3SW-2 200 50 2
v J7 6SE6 -1430 -720  7NW-1 100 13.0 2 v AKQ9 3CS-1-100 0 3SW-1 100 30 1
+ KT64 Dif: 0 NS:-12 6SE-1 100 13.0 1 + K65 Dif: 0 NS:-3 2SW-1 100 30 1
» K73 IMP: 0 EW:12 4SE5 650 20 1 a J972 IMP: 0 EW:3 2CS2 90 30 1
46 & AKQJT53 5SE6 680 1.0 1 ||s AKQ986 a J4 1NS1 90 30 1
v AT986 v Q4 4SW6 680 10 1 ||v 76 + v 8543 3HN-1 100 -30 1
+ AJ3 + Q5 4NW6 690 1.0 1 ||e QT84 ¢ 932 3CS-1 100 -30 5
& QJT9 & A8 4SE7 710 00 1 ||aK & QT83 2sW2 110 30 2
®IVEON o4 6SE6 1430 -12.0 5 PEVEN L,T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~ ~ 49872 S 2~2~1 ¢AJS
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 » AQ5 3CN4 130 Mean: 5CXS5 550 9.0 1 ||# 28 » A9 4SS5 650 Mean: 5HXE-4 800 7.0 1
v4 4HE-150 170  5CXN5 550 9.0 3 oT 4DN5150 510 4SS5 650 4.0 1
¢ 65 Dif: 80 NS:-1 3CN4 130 1.0 1 +» QJ974 Dif: 500 NS:4 3NS5 660 4.0 1
» J987632 IMP: 2 EW:3 5HE-2 100 20 1 » AQT76 IMP: 11 EW:8 5DN5 600 3.0 2
# K8762 94 4HXE-1 100 2.0 1 ||a J742 s T8 484 620 3.0 2
v KQ73 v A9865 4HW-1 50 3.0 3(|v95 I v KQ86432 3NS4 630 3.0 2
¢ J82 + KQT4 4HE-1 50 -3.0 2 [|e K863 * A 3NS3 600 3.0 2
a4 & KT 3HE3 140 7.0 2 ||a& J92 & 854 4HXE-3 500 0.0 1
®PIVEeN LJT3 ®4¢VeEN L, KQ653 4DN5 150 8.0 1
N 5~~~2 ¢JT2 N 55~44 o AJ7 6NXS-2  -500 -14.0 1
S 5~~~2 ¢A973 S 55~44 4 T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 » 92 4HN4 620 Mean: 4HN5 650 20 1 # 30 & T93 4SS4 420 Mean: 4SS4 420 50 6
v AQJ97 4HN4 620 570  4HN4 620 20 1M v A97 4SS-1-50 240  3NS3 400 40 1
¢ J5 Dif: 0 NS:2 3NS4 630 2.0 1 +» KQ96 Dif: 470 NS:5 3NN3 400 40 2
» A865 IMP: 0 EW:-2 4HN-1 100 -12.0 1 » K63 IMP: 10 EW:7 4SS-1 50 7.0 4
s AT74 N # J85 s AJ7 » 82 3NS-2 100 -80 1
v KT2 v 86 v Q642 v T53
+ Q984 + ¢ T32 o JT ¢ A8732
& T7 & QJ942 & QT97 & J52
®IveN LKQ63 ®+VveN L KQ654
N ~~4~4 ¢543 N ~~~42 v KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢+54
E ~~~~~ aK3 E ~~~~~ aA84
W~~~~~ W~~~~~




X AN >\ 4 —_—
10 114&;«1i\wfgﬁﬁ-% AR ==> RI0 10
3 NS: FEEE %EEI(B?JO)S 1 0 NS: BREL5H §=1sz"‘"(EFJC) 9 | P:| 6.28 : 13.72| TotalvP:| 121.51 Rank:
EW: B 3 EEAC) -9 EW: R0 (T E(BJO) -3 IMP:| 14 25 2
I N
# 21 » 87 4SW4 -420 Mean: 4SW4 420 1.0 1 ||# 22 & KT942 4SN-2 -100 Mean: 3HW-2 200 60 1
v A864 4SW5 -450 -450  4SE4 420 10 1 v K6 3SN-2-100 -60  3HW-1 100 40 1
¢ QT764 Dif: 30 NS:1  4SW5 450 0.0 7 » AJB2 Dif: 0 NS:-1  3SN-1 50 0.0 3
» 86 IMP: 1 EW:0 4SE5 450 0.0 2 & T3 IMP: 0 EW:1  2SN-1 50 0.0 2
» KQ952 s AJ43 4SW6 480 1.0 3 Q6 4 J85 4SN-2 100 1.0 1
v K7 v QJT2 v Q9743 —_ v AT8 3SN-2 4100 1.0 1
*J I ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 3CE3 110 20 1
®¢VeN ,T6 PIVEeN LAT3 2HW4 170 30 1
N ~1~~~ 9953 N ~1~1~ ¢J52 3HW5 200 -40 1
S ~1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 QT 4SW6 -680 Mean: 5CE6 620 7.0 1 ||# 24 » Q4 3NW3 -400 Mean: 4HW-5 250 70 1
v 976432 6CE7 -1390 -910 4SWé6 -680 6.0 2 v 9842 3NW-2100 -20 3NW-3 150 50 1
¢ J542 Dif: 710 NS:6 4SW5 650 6.0 6 ¢ 98 Dif: -500 NS:-9 5DW-2 100 30 1
a2 IMP: 12 EW:10 6CE7 1390 -10.0 1 a J7532 IMP: -11 EW:-3 3NW-2 100 30 4
& AK873 a J94 6CE6 <1370 <100 3 ||a J2 & AT75 3NE-1 50 20 3
v + v K85 6SW6 1430 -11.0 1 || JT53 v KQ7 2NE5 210 50 1
+ Q97 + K6 + AKQT2 ¢ J764 3NW3 400 90 1
& KQ543 S & AJ976 &8 & K9 3NE4 430 9.0 1
®eveN o652 ®¢VveN L K863 3NE3 400 9.0 1
N ~~~~~ vAQJT N 3~~~~ 9A6
S ~~~~~ 4ATS83 S 3~~~~ 453
E 6~~55 aT8 E ~43~2 & AQT6
W 6~~54 W ~32~+~
# 25 » 9872 4SE5 -650 Mean: 7SE-1 100 13.0 1 ||# 26 » 52 2SW2 -110 Mean: 3SW-2 200 50 2
v J7 7NW-1100 -720  7NW-1 100 13.0 2 v AKQ9 2SW2-110 o 3SW-1 100 30 1
+ KT64 Dif: -750 NS:2 6SE-1 100 13.0 1 + K65 Dif: 0 NS:-3 2SW-1 100 30 1
» K73 IMP: -13 EW:-13 4SE5 650 20 1 a J972 IMP: 0 EW:3 2CS2 90 30 1
46 & AKQJT53 5SE6 680 1.0 1 ||s AKQ986 a J4 1NS1 90 30 1
v AT986 v Q4 4SW6 680 10 1 ||v 76 + v 8543 3HN-1 100 -30 1
+ AJ3 + Q5 4NW6 690 1.0 1 ||e QT84 ¢ 932 3CS-1 100 -30 5
& QJT9 & A8 4SE7 710 00 1 ||aK & QT83 2sW2 110 30 2
®IVEON o4 6SE6 1430 -12.0 5 PEVEN L,T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~ ~ 49872 S 2~2~1 ¢AJS
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 & AQ5 4HW-1 50 Mean: 5CXS5 550 9.0 1 ||# 28 a A9 3NS5 660 Mean: 5HXE-4 800 7.0 1
v4 4HW-150 170  5CXN5 550 9.0 3 oT 3NS4 630 510 4SS5 650 4.0 1
¢ 65 Dif: 0 NS:-3 3CN4 130 1.0 1 +» QJ974 Dif: 30 NS:4 3NS5 660 4.0 1
» J987632 IMP: 0 EW:3 5HE-2 100 20 1 & AQT76 IMP: 1 EW:-3 5DN5 600 3.0 2
# K8762 94 4HXE-1 100 2.0 1 ||a J742 s T8 484 620 3.0 2
v KQ73 v A9865 4HW-1 50 -30 3||v95 I v KQ86432 3NS4 630 3.0 2
¢ J82 + KQT4 4HE-1 50 -3.0 2 ||e K863 * A 3NS3 600 3.0 2
a4 & KT 3HE3 140 7.0 2 ||a& J92 & 854 4HXE-3 500 0.0 1
*eveN LJT3 PIVEN L KQ653 4DN5 150 8.0 1
N 5~~~2 ¢JT2 N 55~44 o AJ7 6NXS-2  -500 -14.0 1
S 5~~~2 ¢A973 S 55~44 o7T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 » 92 4HN4 620 Mean: 4HN5 650 20 1 # 30 & T93 3NS3 400 Mean: 4SS4 420 50 6
v AQJ97 4HN4 620 570  4HN4 620 20 1M v A97 4SS4420 240  3NS3 400 40 1
¢ J5 Dif: 0 NS:2 3NS4 630 2.0 1 +» KQ96 Dif: 20 NS:4 3NN3 400 40 2
» A865 IMP: 0 EW:-2 4HN-1 100 -12.0 1 » K63 IMP: -1 EW:-5 4SS-1 50 7.0 4
» AT74 N # J85 » AJ7 » 82 3NS-2 100 -80 1
v KT2 v 86 v Q642 v T53
+ Q984 + ¢ T32 o JT ¢ A8732
& T7 & QJ942 & QT97 & J52
*eveN L, KQ63 ®+veN L KQ654
N ~~4~4 ¢543 N ~~~42 v KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢+54
E ~~~~~ aK3 E ~~~~~ aA84
W~~~~~ W~~~~~




X AN >\ 4 —_—
10 114&;«1i\wfgﬁﬁ-% AR = R0 10
4 NS: &5 ES ﬁ;ﬁﬁ(ﬁﬁ@ 23 7 NS: Alan SIA Diana SUN(H P:| 425 : 15.75| Total VP: 64.72 Rank:
EW: bR =EHEEAC) -43 EW: Radihike RYRN ZI{fl2 IMP:| 8 27 14
I N
# 21 » 87 4SW6 -480 Mean: 4SW4 420 1.0 1 ||# 22 & KT942 3HW-1 100 Mean: 3HW-2 200 60 1
v A864 4SWS5 -450 -450 4SE4 420 10 1 v K6 3SN-1-50 -60  3HW-1 100 40 1
+ QT764 Dif: -30 NS:-1 4SW5 450 0.0 7 » AJB2 Dif: 150 NS:4 3SN-1 50 0.0 3
» 86 IMP: -1 EW:0 4SE5 450 0.0 2 & T3 IMP: 4 EW:0 2SN-1 50 0.0 2
» KQ952 s AJ43 4SW6 480 1.0 3 Q6 # J85 4SN-2 100 1.0 1
v K7 v QJT2 v Q9743 —_ v AT8 3SN-2 4100 1.0 1
*J | ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 3CE3 110 20 1
®IVeN ,T6 PIVEON LAT3 2HW4 170 30 1
N ~1~~~ 9953 N ~1~1~ ¢J52 3HWS5 200 -40 1
S ~1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 4SWS5 -650 Mean: 5CE6 -620 70 1 # 24 » Q4 3NW-3 150 Mean: 4HW-5 250 70 1
v 976432 5CE6 -620 -910 4SW6 -680 6.0 2 v 9842 3NE-150 -20 3NW-3 150 50 1
¢ J542 Dif: -30 NS:6 4SW5 650 6.0 6 ¢ 98 Dif: 100 NS:5 5DW-2 100 30 1
a2 IMP: -1 EW:-7 6CE7 1390 -10.0 1 a J7532 IMP: 3 EW:-2 3NW-2 100 30 4
& AK873 a J94 6CE6 <1370 -10.0 3 ||a& J2 & AT75 3NE-1 50 20 3
v + v K85 6SW6 1430 -11.0 1 ||v JT53 v KQ7 2NE5 210 50 1
+ Q97 + K6 + AKQT2 ¢ J764 3NW3 400 90 1
& KQ543 S & AJ976 &8 & K9 3NE4 430 9.0 1
®IVEeN o652 ®IVEN L K863 3NE3 400 9.0 1
N ~~~~~ vAQJT N 3~~~~ ¢A6
S ~~~~~ 4ATS83 S 3~~~~ 453
E 6~~55 aT8 E ~43~2 & AQT6
W 6~~54 W ~32~+~
# 25 » 9872 4NW6 -690 Mean: 7SE-1 100 13.0 1 [|# 26 » 52 3SW-1100 Mean: 3SW-2 200 50 2
v J7 6SE-1100 -720 7NW-1 100 13.0 2 v AKQ9 2SW-1100 0 3SW-1 100 30 1
+ KT64 Dif: -790 NS:1 6SE-1 100 13.0 1 + K65 Dif: 0 NS:3 2SW-1 100 30 1
» K73 IMP: -13 EW:-13 4SE5 650 20 1 a J972 IMP: 0 EW:-3 2CS2 90 30 1
46 & AKQJT53 5SE6 680 1.0 1 ||s AKQ986 a J4 1NS1 90 30 1
v AT986 v Q4 4SW6 680 1.0 1 ||v 76 + v 8543 3HN-1 100 -30 1
+ AJ3 + Q5 4NW6 690 1.0 1 ||e QT84 ¢ 932 3CS-1 100 -30 5
& QJT9 & A8 4SE7 710 00 1 ||a K & QT83 2sW2 110 30 2
®IVEON o4 6SE6 1430 -12.0 5 PEVEN L,T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~ ~ 49872 S 2~2~1 ¢AJS
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 & AQ5 5CXS5 550 Mean: 5CXS5 550 9.0 1 ||# 28 a A9 3NS3 600 Mean: 5HXE-4 800 7.0 1
v4 5CXN5 550 170  5CXN5 550 9.0 3 oT 5DN5 600 510 4SS5 650 4.0 1
¢ 65 Dif: 0 NS:9 3CN4 130 1.0 1 » QJ974 Dif: 0 NS:3 3NS5 660 4.0 1
a J987632 IMP: 0 EW:-9 5HE-2 100 20 1 » AQT76 IMP: 0 EW:-3 5DN5 600 3.0 2
# K8762 » 94 4HXE-1 100 2.0 1 ||a J742 4 T8 484 620 3.0 2
v KQ73 v A9865 4HW-1 50 3.0 3(|v95 I v KQ86432 3NS4 630 3.0 2
¢ J82 + KQT4 4HE-1 50 -3.0 2 [|e K863 * A 3NS3 600 3.0 2
a4 & KT 3HE3 140 7.0 2 ||a& J92 & 854 4HXE-3 500 0.0 1
®PIVEeN LJT3 ®4¢VeEN L, KQ653 4DN5 150 8.0 1
N 5~~~2 ¢JT2 N 55~44 o AJ7 6NXS-2 500 140 1
S 5~~~2 ¢A973 S 55~44 o7T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 » 92 4HN-1 -100 Mean: 4HN5 650 20 1 # 30 & T93 4SS4 420 Mean: 4SS4 420 50 6
v AQJ97 4HN4 620 570  4HN4 620 20 1M v A97 3NN3 400 240 3NS3 400 40 1
¢ J5 Dif: -720 NS:-12 3NS4 630 2.0 1 +» KQ96 Dif: 20 NS:5 3NN3 400 40 2
» A865 IMP: -12 EW:-2 4HN-1 100 -12.0 1 » K63 IMP: 1 EW:-4 4SS-1 50 7.0 4
s AT74 N # J85 s AJ7 » 82 3NS-2 100 -80 1
v KT2 v 86 v Q642 v T53
+ Q984 + ¢ T32 o JT ¢ A8732
& T7 & QJ942 & QT97 & J52
®IveN LKQ63 ®+VveN L KQ654
N ~~4~4 ¢543 N ~~~42 v KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢+54
E ~~~~~ aK3 E ~~~~~ aA84
W~~~~~ W~~~~~




X AW >\ 4 —_—
10 114&;«1i\wfgﬁﬁ-% AR = R0 10
5 NS: ElEK @ﬁgﬂg(ﬁﬁo) -4 1 4 S: 32fE MT—Z&(EHC) 26 P:| 3.61 : 16.39| Total VP: 93.19 Rank:
EW: 13{EE FRrg=(EAC) -26 EW: 218 $8ZER(FH0) 4 IMP:| 16 38 9
I N
# 21 » 87 4SW6 -480 Mean: 4SW4 420 1.0 1 ||# 22 & KT942 3SN-1-50 Mean: 3HW-2 200 60 1
v A864 4SW5 -450 -450 4SE4 420 10 1 v K6 3HW5-200 -60  3HW-1 100 40 1
¢ QT764 Dif: -30 NS:-1 4SW5 450 0.0 7 » AJ82 Dif: 150 NS:0 3SN-1 50 0.0 3
& 86 IMP: -1 EW:0 4SE5 -450 0.0 2 & T3 IMP: 4 EW:4 2SN-1 50 0.0 2
» KQ952 s AJ43 4SW6 480 1.0 3 Q6 » J85 4SN-2 100 1.0 1
v K7 v QJT2 v Q9743 —_— v AT8 3SN-2 4100 1.0 1
*J | * 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 3CE3 110 20 1
®IVeN ,T6 POVEN LAT3 2HW4 170 3.0 1
N ~1~~~ 9953 N ~1~1~ ¢J52 3HWS5 200 -40 1
S ~1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 4SW6 -680 Mean: 5CE6 -620 70 1 # 24 » Q4 3NE-1 50 Mean: 4HW-5 250 70 1
v 976432 4SW5 -650 -910 4SW6 -680 6.0 2 v 9842 3NE-150 -20 3NW-3 150 50 1
¢ J542 Dif: -30 NS:6 4SW5 650 6.0 6 ¢ 98 Dif: 0 NS:2 5DW-2 100 30 1
a2 IMP: -1 EW:-6 6CE7 1390 -10.0 1 » J7532 IMP: 0 EW:-2 3NW-2 100 30 4
& AK873 s J94 6CE6 <1370 -10.0 3 ||a& J2 & AT75 3NE-1 50 20 3
v + v K85 6SW6 1430 -11.0 1 ||v JT53 v KQ7 2NE5 210 50 1
* Q97 + K6 + AKQT2 ¢ J764 3NW3 400 90 1
& KQ543 S & AJ976 &8 & K9 3NE4 430 9.0 1
®IVEeN o652 ®IVEN L K863 3NE3 -400 9.0 1
N ~~~~~ vAQJT N 3~~~~ ¢A6
S ~~~~~ 4ATS83 S 3~~~~ 453
E 6~~55 T8 E ~43~2 &AQT6
W 6~~54 W ~32~+~
# 25 » 9872 6SE6 -1430 Mean: 7SE-1 100 13.0 1 [|# 26 » 52 3CS-1-100 Mean: 3SW-2 200 50 2
v J7 7SE-1100 -720  7NW-1 100 13.0 2 v AKQ9 1NS190 o 3SW-1 100 30 1
+ KT64 Dif: -1530 NS:-12 6SE-1 100 13.0 1 + K65 Dif: -190 NS:-3 2SW-1 100 30 1
» K73 IMP: -17 EW:-13 4SE5 650 20 1 » J972 IMP: -5 EW:-3 2CS2 90 30 1
46 & AKQJT53 5SE6 680 1.0 1 ||s AKQ986 a J4 1NS1 90 30 1
v AT986 v Q4 4SW6 680 1.0 1 ||v 76 _I_ v 8543 3HN-1 100 -30 1
+ AJ3 + Q5 4NW6 690 1.0 1 ||e QT84 + 932 3CS-1 100 -30 5
& QJT9 & A8 4SE7 710 00 1 ||a K & QT83 25W2 110 30 2
®IVEON o4 6SE6 1430 -12.0 5 PEVEN L,T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~ ~ 49872 S 2~2~1 ¢AJS
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 » AQ5 4HE-1 50 Mean: 5CXS5 550 9.0 1 ||# 28 » A9 4HXE-3 500 Mean: 5HXE-4 800 7.0 1
vid 5CXN5 550 170  5CXN5 550 9.0 3 T 5DN5 600 510 4SS5 650 4.0 1
¢ 65 Dif: -500 NS:-3 3CN4 130 1.0 1 » QJ974 Dif: 100 NS:0 3NS5 660 4.0 1
» J987632 IMP: -11 EW:-9 5HE-2 100 2.0 1 & AQT76 IMP: -3 EW:-3 5DN5 600 3.0 2
» K8762 » 94 4HXE-1 100 2.0 1 ||a J742 4 T8 4S5S4 620 3.0 2
v KQ73 v A9865 4HW-1 50 3.0 3(|v95 I v KQ86432 3NS4 630 3.0 2
* J82 + KQT4 4HE-1 50 -3.0 2 [|e K863 * A 3NS3 600 3.0 2
a4 & KT 3HE3 140 7.0 2 ||a& J92 & 854 4HXE-3 500 0.0 1
®PIVEeN LJT3 ®4¢VeEN L, KQ653 4DN5 150 -8.0 1
N 5~~~2 oJT2 N 55~44 o AJ7 6NXS-2 500 140 1
S 5~~~2 ¢A973 S 55~44 4 T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 » 92 4HN5 650 Mean: 4HN5 650 20 1 # 30 & T93 4SS4 420 Mean: 4SS4 420 50 6
v AQJ97 4HN4 620 570  4HN4 620 20 1M v A97 3NS-2-100 240  3NS3 400 40 1
¢ J5 Dif: 30 NS:2 3NS4 630 2.0 1 + KQ96 Dif: 520 NS:5 3NN3 400 40 2
» A865 IMP: 1 EW:-2 4HN-1 -100 -12.0 1 » K63 IMP: 11 EW:8 4SS-1 50 7.0 4
s AT74 ] 4 J85 a AJ7 » 82 3NS-2 100 -80 1
v KT2 v 86 v Q642 v T53
+ Q984 + ¢ T32 o JT ¢ A8732
& T7 & QJ942 & QT97 & J52
®IveN LKQ63 ®+VveN L KQ654
N ~~4~4 ¢543 N ~~~42 ¢ KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢+54
E ~~~~~ aK3 E ~~~~~ aA84
W~~~~~ W~~~~~




X AN >\ 4 —_—
10 114&;«1i\wfgﬁﬁ-% AR ==> RI0 10
6 NS: S&¢4 %ﬁfﬁ(ﬁﬁ@ 26 9 NS: EHE Bﬁﬁﬁa(EHC) -34 P:| 11.50 : 8.50 Total VP: 114.98 Rank:
EW: 8% BB EAC) 32 EW: 28X 38 Mi&F(BH0) 26 IMP:| 20 16 3
I . N
# 21 » 87 4SE5 -450 Mean: 4SW4 420 1.0 1 ||# 22 & KT942 2HW4 -170 Mean: 3HW-2 200 60 1
v A864 4SW6 -480 -450 4SE4 420 10 1 v K6 2SN-1-50 -60  3HW-1 100 40 1
¢ QT764 Dif: 30 NS:0 4SW5 450 0.0 7 » AJB2 Dif: -120 NS:-3  3SN-1 50 0.0 3
» 86 IMP: 1 EW:1 4SE5 450 0.0 2 & T3 IMP: -3 EW:0 2SN-1 50 0.0 2
» KQ952 s AJ43 4SW6 480 1.0 3 Q6 4 J85 4SN-2 100 1.0 1
v K7 v QJT2 v Q9743 —_ v AT8 3SN-2 4100 1.0 1
*J I ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 3CE3 110 20 1
®¢VeN ,T6 PIVEON LAT3 2HW4 170 30 1
N ~1~~~ 9953 N ~1~1~ ¢J52 3HW5 200 -40 1
S ~1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 6CE6 -1370 Mean: 5CE6 -620 70 1 # 24 » Q4 4HW-5 250 Mean: 4HW-5 250 70 1
v 976432 6SW6 -1430 -910  4SW6 680 6.0 2 v 9842 3NE4 -430 -20  3NW-3 150 50 1
¢ J542 Dif: 60 NS:-10 4SW5 650 6.0 6 ¢ 98 Dif: 680 NS:7 5DW-2 100 30 1
a2 IMP: 2 EW:11 6CE7 1390 -10.0 1 a J7532 IMP: 12 EW:9 3NW-2 100 30 4
& AK873 a J94 6CE6 <1370 <100 3 ||a J2 & AT75 3NE-1 50 20 3
v + v K85 6SW6 1430 -11.0 1 ||v JT53 v KQ7 2NE5 210 50 1
+ Q97 + K6 + AKQT2 ¢ J764 3NW3 400 90 1
& KQ543 S & AJ976 &8 & K9 3NE4 430 9.0 1
®eveN o652 ®¢VveN L K863 3NE3 400 9.0 1
N ~~~~~ vAQJT N 3~~~~ 9A6
S ~~~~~ 4ATS83 S 3~~~~ 453
E 6~~55 aT8 E ~43~2 & AQT6
W 6~~54 W ~32~+~
# 25 » 9872 6SE6 -1430 Mean: 7SE-1 100 13.0 1 ||# 26 » 52 3HN-1-100 Mean: 3SW-2 200 50 2
v J7 5SE6 -680 -720  7NW-1 100 13.0 2 v AKQ9 3CS-1-100 o0 3SW-1 100 30 1
+ KT64 Dif: -750 NS:-12 6SE-1 100 13.0 1 + K65 Dif: 0 NS:-3 2SW-1 100 30 1
» K73 IMP: -13 EW:-1 4SE5 650 20 1 a J972 IMP: 0 EW:3 2CS2 90 30 1
46 & AKQJT53 5SE6 680 1.0 1 ||s AKQ986 a J4 1NS1 90 3.0 1
v AT986 v Q4 4SW6 680 10 1 ||v 76 + v 8543 3HN-1 100 -30 1
+ AJ3 + Q5 4NW6 690 1.0 1 ||e QT84 ¢ 932 3CS-1 100 -30 5
& QJT9 & A8 4SE7 710 00 1 ||aK & QT83 2sW2 110 30 2
®IVEON o4 6SE6 1430 -12.0 5 PEVEN L,T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~~ 49872 S 2~2~1 ¢AJS
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 & AQ5 4HW-1 50 Mean: 5CXS5 550 9.0 1 ||# 28 a A9 4S5S4 620 Mean: 5HXE-4 800 7.0 1
v4 3HE3 -140 170  5CXN5 550 9.0 3 oT 3NS4 630 510 4SS5 650 4.0 1
¢ 65 Dif: 190 NS:-3 3CN4 130 1.0 1 » QJ974 Dif: -10 NS:3 3NS5 660 4.0 1
a J987632 IMP: 5 EW:7 5HE-2 100 20 1 » AQT76 IMP: 0 EW:-3 5DN5 600 3.0 2
# K8762 94 4HXE-1 100 2.0 1 ||a J742 s T8 484 620 3.0 2
v KQ73 v A9865 4HW-1 50 -30 3||v95 I v KQ86432 3NS4 630 3.0 2
¢ J82 + KQT4 4HE-1 50 -3.0 2 ||e K863 * A 3NS3 600 3.0 2
a4 & KT 3HE3 140 7.0 2 ||a& J92 & 854 4HXE-3 500 0.0 1
*eveN LJT3 PIVEN L KQ653 4DN5 150 8.0 1
N 5~~~2 ¢JT2 N 55~44 o AJ7 6NXS-2  -500 -14.0 1
S 5~~~2 ¢A973 S 55~44 o7T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 » 92 4HN4 620 Mean: 4HN5 650 20 1 # 30 & T93 4SS-1 -50 Mean: 4SS4 420 50 6
v AQJ97 4HN4 620 570  4HN4 620 20 1M v A97 4SS-1-50 240  3NS3 400 40 1
¢ J5 Dif: 0 NS:2 3NS4 630 2.0 1 +» KQ96 Dif: 0 NS:-7  3NN3 400 40 2
» A865 IMP: 0 EW:-2 4HN-1 100 -12.0 1 » K63 IMP: 0 EW:7 4SS-1 50 7.0 4
» AT74 N # J85 s AJ7 » 82 3NS-2 100 -80 1
v KT2 v 86 v Q642 v T53
+ Q984 + ¢ T32 o JT ¢ A8732
& T7 & QJ942 & QT97 & J52
*eveN L, KQ63 ®+veN L KQ654
N ~~4~4 ¢543 N ~~~42 v KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢54
E ~~~~~ aK3 E ~~~~~ &A84
W~~~~~ W~~~~~




X AN >\ 4 —_—
10 114&;«1i\wfgﬁﬁ-% AR ==> RI0 10
7 NS: Alan SIA Diana sUN(Eﬁ c)| 4 N e M:fz'T?(EﬁO) 23 P:|15.75 : 4.25 | TotalVP:| 83.86 Rank:
EW: Radihike RYRN SZI{ZE(] EW: BRI SEH(BIC) -4 IMP:| 27 : 8 12
I N
# 21 » 87 4SW6 480 Mean: 4SW4 420 1.0 1 ||# 22 & KT942 3HW-1 -100 Mean: 3HW-2 200 60 1
v A864 4SW5 450 -450 4SE4 420 10 1 v K6 3SN-150 -60  3HW-1 100 40 1
+ QT764 Dif: 30 NS:0 4SW5 450 00 7 + AJ82 Dif: -150 NS:0 3SN-1 50 0.0 3
» 86 IMP: 1 EW:1 4SE5 450 0.0 2 a T3 IMP: -4 EW:-4 2SN-1 50 0.0 2
» KQ952 s AJ43 4SW6 480 1.0 3 Q6 4 J85 4SN-2 100 1.0 1
v K7 v QJT2 v Q9743 —_ v AT8 3SN-2 100 1.0 1
*J | ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 3CE3 110 20 1
®¢VeN ,T6 PIVEeN LAT3 2HW4 170 30 1
N ~1~~~ 9953 N ~1~1~ ¢J52 3HW5 200 -40 1
S ~1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 QT 4SW5 650 Mean: 5CE6 620 7.0 1 ||# 24 » Q4 3NW-3 -150 Mean: 4HW-5 250 70 1
v 976432 5CE6 620 -910 4SW6 -680 6.0 2 v 9842 3NE-1-50 -20 3NW-3 150 50 1
¢ J542 Dif: 30 NS:7 4SW5 650 60 6 ¢ 98 Dif: -100 NS:2 5DW-2 100 30 1
a2 IMP: 1 EW:-6 6CE7 1390 -10.0 1 a J7532 IMP: -3 EW:-5 3NW-2 100 30 4
# AK873 s J94 6CE6 <1370 <100 3 ||a J2 a4 AT75 3NE-1 50 20 3
v + v K85 6SW6 1430 -11.0 1 || JT53 v KQ7 2NE5 210 50 1
+ Q97 + K6 + AKQT2 ¢ J764 3NW3 400 9.0 1
& KQ543 S & AJ976 &8 & K9 3NE4 430 9.0 1
®eveN o652 ®¢VveN L K863 3NE3 400 9.0 1
N ~~~~~ o AQJT N 3~~~~ o A6
S ~~~~~ 4AT83 S 3~~~~ o653
E 6~~55 aT8 E ~43~2 & AQT6
W 6~~54 W ~32~+~
# 25 » 9872 4NW6 690 Mean: T7SE-1 100 13.0 1 ||# 26 » 52 3SW-1-100 Mean: 3SW-2 200 50 2
v J7 6SE-1-100 -720  7NW-1 100 130 2 v AKQ9 2SW-1-100 o0 3SW-1 100 30 1
+ KT64 Dif: 790 NS:13  6SE-1 100 130 1 + K65 Dif: 0 NS:3 2SW-1 100 30 1
» K73 IMP: 13 EW:-1 4SE5 650 2.0 1 » J972 IMP: 0 EW:-3 2CS2 90 30 1
46 & AKQJT53 5SE6 680 1.0 1 ||s AKQ986 » J4 1NS1 0 30 1
v AT986 v Q4 4SW6 680 10 1 ||v 76 + v 8543 3HN-1 100 3.0 1
+ AJ3 ¢ Q5 4ANW6 690 10 1 ||e QT84 ¢ 932 3Cs-1 100 30 5
& QJT9 & A8 4SE7 710 00 1 ||aK & QT83 2sW2 110 30 2
®IVEON o4 6SE6 1430 -12.0 5 PEVEN L,T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~ ~ 49872 S 2~2~1 ¢AJS
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 & AQ5 5CXS5 -550 Mean: 5CXS5 550 9.0 1 ||# 28 a A9 3NS3 -600 Mean: S5HXE-4 800 7.0 1
vd 5CXN5-550 170  5CXN5 550 9.0 3 T 5DN5 -600 510 4SS5 650 4.0 1
4 65 Dif: 0 NS:9 3CN4 130 1.0 1 +» QJ974 Dif: 0 NS:3 3NS5 660 40 1
» J987632 IMP: 0 EW:-9 5HE-2 100 20 1 & AQT76 IMP: 0 EW:-3 5DN5 600 3.0 2
# K8762 94 4HXE-1 100 2.0 1 ||a J742 s T8 484 620 3.0 2
v KQ73 v A9865 4HW-1 50 -30 3||v95 | v KQ86432 3NS4 630 3.0 2
+ J82 + KQT4 4HE-1 50 -3.0 2 ||e K863 * A 3NS3 600 3.0 2
a4 & KT 3HE3 140 7.0 2 ||a& J92 & 854 4HXE-3 500 0.0 1
*eveN LJT3 PIVEN L KQ653 4DN5 150 80 1
N 5~~~2 ¢JT2 N 55~44 oAJ7 6NXS-2  -500 -14.0 1
S 5~~~2 ¢A973 S 55~44 o7T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 » 92 4HN-1 100 Mean: 4HNS5 650 20 1 # 30 & T93 4SS4 -420 Mean: 4SS4 420 50 6
v AQJ97 4HN4 -620 570  4HN4 620 20 11 v A97 3NN3 -400 240  3NS3 400 40 1
¢ J5 Dif: 720 NS:2 3NS4 630 20 1 + KQ96 Dif: -20 NS:4 3NN3 400 40 2
» A865 IMP: 12 EW:12 4HN-1 100 120 1 » K63 IMP: -1 EW:-5 4SS-1 50 7.0 4
» AT74 N 4 J85 » AJ7 » 82 3NS-2 100 -80 1
v KT2 v 86 v Q642 v T53
+ Q984 + ¢ T32 o JT ¢ A8732
& T7 & QJ942 & QT97 & J52
*eveN L, KQ63 ®+veN L KQ654
N ~~4~4 ¢543 N ~~~42 v KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢54
E ~~~~~ aK3 E ~~~~~ aA84
W~~~~~ W~~~~~




X AN >\ 4 —_—
10 114&;«1i\wfgﬁﬁ-% AR == RI0 10
8 NS: Z}Sﬁﬁvﬂéﬁﬁﬁ(ﬁﬁm 10 1 1 NS: €308 gﬂﬁaiﬁ(sﬁc) -2 P:| 8.15 : 11.85| Total VP: 90.24 Rank:
EW: SR5AHT BHEREEAC) 2 EW: 2R3 JIXA(F0) 10 IMP:| 23 28 10
_ __ -
# 21 » 87 4SW5 -450 Mean: 4SW4 420 1.0 1 ||# 22 & KT942 3HW3 -140 Mean: 3HW-2 200 60 1
v A864 4SE4 -420 -450 4SE4 420 10 1 v K6 3CE3-110 -60  3HW-1 100 40 1
¢ QT764 Dif: -30 NS:0 4SW5 450 0.0 7 + AJ82 Dif: -30 NS:-2 3SN-1 50 00 3
» 86 IMP: -1 EW:-1 4SE5 450 0.0 2 a T3 IMP: -1 EW:2 2SN-1 50 0.0 2
» KQ952 » AJ43 4SW6 480 1.0 3 Q6 # J85 4SN-2 100 1.0 1
v K7 v QJT2 v Q9743 _— v ATS 3SN-2 100 1.0 1
*J | ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 3CE3 110 20 1
®¢VON ,T6 ®eVeON LAT3 2HW4 470 30 1
N ~1~~~ 9953 N ~1~1~ ¢J52 3HWS5 200 -40 1
S ~1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 6CE6 -1370 Mean: 5CE6 -620 70 1 # 24 » Q4 2NE5 -210 Mean: 4HW-5 250 70 1
v 976432 6CE6 -1370 -910 4SW6 680 6.0 2 v 9842 3NE3 -400 -20 3NW-3 150 50 1
¢ J542 Dif: 0 NS:-10 4SW5 650 6.0 6 ¢ 98 Dif: 190 NS:-5 5DW-2 100 30 1
a2 IMP: 0 EW:10 6CE7 41390 -10.0 1 » J7532 IMP: 5 EW:9 3NW-2 100 30 4
» AK873 s J94 6CE6 1370 100 3 || J2 a AT75 3NE-1 50 20 3
v + v K85 6SW6 1430 -11.0 1 || JT53 v KQ7 2NE5 210 50 1
* Q97 + K6 + AKQT2 * J764 3NW3 400 90 1
& KQ543 S & AJ976 &8 & K9 3NE4 430 9.0 1
®IVON o652 ® ¢V SN L KOB863 3NE3 400 9.0 1
N ~~~~~ vAQJT N 3~~~~ 9A6
S ~~~~~ 4ATS83 S 3~~~~ 453
E 6~~55 aT8 E ~43~2 & AQT6
W 6~~54 W ~32~+~
# 25 » 9872 4SE7 -710 Mean: 7SE-1 100 13.0 1 ||# 26 » 52 3SW-2200 Mean: 3SW-2 200 50 2
v J7 7NW-1100 -720  7NW-1 100 130 2 v AKQ9 2CS290 o 3SW-1 100 30 1
+ KT64 Dif: -810 NS:0 6SE-1 100 130 1 + K65 Dif: 110 NS:5 2SW-1 100 30 1
» K73 IMP: -13 EW:-13 4SE5 650 2.0 1 a J972 IMP: 3 EW:-3 2CS2 90 30 1
46 & AKQJT53 5SE6 680 1.0 1 ||s AKQ986 s J4 1NS1 90 30 1
v AT986 v Q4 4SW6 680 10 1 [|e76 + v 8543 3HN-1 4100 30 1
¢ AJ3 ¢ Q5 4ANW6 690 1.0 1 [|e QT84 ¢ 932 3CS-1 100 30 5
& QJT9 » A8 4SE7 710 00 1||aK & QT83 2SW2 410 30 2
®IVEON o4 6SE6 1430 -12.0 5 PEVEN L,T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~~ 49872 S 2~2~1 ¢AJS
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 » AQ5 3HE3 -140 Mean: 5CXS5 550 9.0 1 ||# 28 » A9 4SS4 620 Mean: 5HXE-4 800 7.0 1
vd 5CXN5 550 170  5CXN5 550 9.0 3 T 6NXS-2 -500 510 4SS5 650 4.0 1
¢ 65 Dif: -690 NS:-7 3CN4 130 1.0 1 + QJ974 Dif: 1120 NS:3 3NS5 660 4.0 1
» J987632 IMP: -12 EW:9 5HE-2 100 20 1 » AQT76 IMP: 15 EW:14 5DN5 600 3.0 2
» K8762 s 94 4HXE-1 100 20 1 ||a J742 s T8 4ss4 620 3.0 2
v KQ73 v A9865 4HW-1 50 30 3 ||v95 | v KQ86432 3NS4 630 3.0 2
¢ J82 + KQT4 4HE-1 50 30 2 ||e K863 ¢ A 3NS3 600 3.0 2
a4 & KT 3HE3 4140 70 2 ||a J92 & 854 4HXE-3 500 0.0 1
®IVeN LT3 ®¢9 SN L, KQ653 4DN5 150 8.0 1
N 5~~~2 ¢JT2 N 55~44 ¢ AJT 6NXS-2  -500 -14.0 1
S 5~~~2 ¢A973 S 55~44 o7T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 » 92 3NS4 630 Mean: 4HN5 650 20 1 # 30 & T93 3NN3 400 Mean: 4SS4 420 50 6
v AQJ97 4HN4 620 570  4HN4 620 20 11 v A97 4SS4 420 240  3NS3 400 40 1
¢+ J5 Dif: 10 NS:2 3NS4 630 20 1 + KQ96 Dif: -20 NS:4 3NN3 400 40 2
» AB65 IMP: 0 EW:-2 4HN-1 100 120 1 » K63 IMP: -1 EW:-5 4SS-1 50 7.0 4
& AT74 N # J85 s AJ7 » 82 3NS-2 100 -80 1
v KT2 v 86 v Q642 v T53
+ Q984 + ¢ T32 ¢ JT ¢ A8732
& T7 & QJ942 & QT97 & J52
®*+veN LKQ63 ®+veN L, KQ654
N ~~4~4 ¢543 N ~~~42 v KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢54
E ~~~~~ aK3 E ~~~~~ &A84
W~~~~~ W~~~~~




X AN >\ 4 —_—
10 114&;«1i\wfgﬁﬁ-% AR = R0 10
9 NS: HEE lﬁﬁﬁ(]%ﬁ@ 32 6 NS: 81288 g{E{E(EﬁO) -24 P:| 8.50 : 11.50| Total VP: 136.56 Rank:
EW ISV 7}7[:%?(550) 26 EW: #1845 BRIERE(BAC) 32 IMP:| 16 20 1
N
# 21 » 87 4SE5 450 Mean: 4SW4 420 1.0 1 |[|# 22 » KT942 2HW4 170 Mean: 3HW-2 200 6.0 1
v A864 4SW6 480 -450  4SE4 420 10 1 v K6 2SN-150 -60  3HW-1 100 40 1
¢ QT764 Dif: -30 NS:-1 4SW5 450 0.0 7 » AJB2 Dif: 120 NS:0 3SN-1 50 0.0 3
» 86 IMP: -1 EW:0 4SE5 450 0.0 2 & T3 IMP: 3 EW:3 2SN-1 50 0.0 2
» KQ952 s AJ43 4SW6 480 1.0 3 Q6 4 J85 4SN-2 100 1.0 1
v K7 v QJT2 v Q9743 —_ v AT8 3SN-2 4100 1.0 1
*J | ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 3CE3 110 20 1
®¢VeN ,T6 PIVEON LAT3 2HW4 170 30 1
N ~1~~~ 9953 N ~1~1~ ¢J52 3HW5 200 -40 1
S ~1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 6CEG6 1370 Mean: 5CE6 -620 70 1 # 24 » Q4 4HW-5 -250 Mean: 4HW-5 250 70 1
v 976432 6SW6 1430 -910  4SW6 680 6.0 2 v 9842 3NE4 430 -20 3NW-3 150 50 1
¢ J542 Dif: -60 NS:-11 4SW5 650 6.0 6 ¢ 98 Dif: -680 NS:-9 5DW-2 100 30 1
a2 IMP: -2 EW:10 6CE7 1390 -10.0 1 a J7532 IMP: -12 EW:-7 3NW-2 100 30 4
& AK873 a J94 6CE6 <1370 <100 3 ||a J2 & AT75 3NE-1 50 20 3
v + v K85 6SW6 1430 -11.0 1 ||v JT53 v KQ7 2NE5 210 50 1
+ Q97 + K6 + AKQT2 ¢ J764 3NW3 400 90 1
& KQ543 S & AJ976 &8 & K9 3NE4 430 9.0 1
®eveN o652 ®¢VveN L K863 3NE3 400 9.0 1
N ~~~~~ o AQJT N 3~~~~ o A6
S ~~~~~ 4AT83 S 3~~~~ o653
E 6~~55 aT8 E ~43~2 & AQT6
W 6~~54 W ~32~+~
# 25 » 9872 6SE6 1430 Mean: 7SE-1 100 13.0 1 ||# 26 » 52 3HN-1 100 Mean: 3SW-2 200 50 2
v J7 5SE6 680 -720  7NW-1 100 13.0 2 v AKQ9 3CS-1100 o 3SW-1 100 30 1
+ KT64 Dif: 750 NS:1  6SE-1 100 13.0 1 + K65 Dif: 0 NS:-3 2SW-1 100 30 1
» K73 IMP: 13 EW:12 4SE5 650 20 1 a J972 IMP: 0 EW:3 2CS2 20 30 1
46 & AKQJT53 5SE6 680 1.0 1 ||s AKQ986 a J4 1NS1 90 30 1
v AT986 v Q4 4SW6 680 10 1 ||v 76 + v 8543 3HN-1 100 -30 1
+ AJ3 + Q5 4NW6 690 1.0 1 ||e QT84 ¢ 932 3CS-1 100 -30 5
& QJT9 & A8 4SE7 710 00 1 ||aK & QT83 2sW2 110 30 2
®IVEON o4 6SE6 1430 -12.0 5 PEVEN L,T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~~ 49872 S 2~2~1 ¢AJS
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 & AQ5 4HW-1 -50 Mean: 5CXS5 550 9.0 1 ||# 28 a A9 4S5S4 -620 Mean: 5HXE-4 800 7.0 1
v4 3HE3 140 170 5CXN5 550 9.0 3 oT 3NS4 -630 510 4SS5 650 4.0 1
¢ 65 Dif: -190 NS:-7 3CN4 130 1.0 1 » QJ974 Dif: 10 NS:3 3NS5 660 4.0 1
a J987632 IMP: -5 EW:3 5HE-2 100 20 1 » AQT76 IMP: 0 EW:-3 5DN5 600 3.0 2
# K8762 94 4HXE-1 100 2.0 1 ||a J742 s T8 484 620 3.0 2
v KQ73 v A9865 4HW-1 50 -30 3||v95 | v KQ86432 3NS4 630 3.0 2
¢ J82 + KQT4 4HE-1 50 -3.0 2 [|e K863 * A 3NS3 600 3.0 2
a4 & KT 3HE3 140 7.0 2 ||a& J92 & 854 4HXE-3 500 0.0 1
*eveN LJT3 PIVEN L KQ653 4DN5 150 8.0 1
N 5~~~2 ¢JT2 N 55~44 o AJ7 6NXS-2  -500 -14.0 1
S 5~~~2 ¢A973 S 55~44 o7T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 » 92 4HN4 -620 Mean: 4HNS5 650 20 1 # 30 & T93 4SS-1 50 Mean: 4SS4 420 50 6
v AQJ97 4HN4 -620 570  4HN4 620 20 1M v A97 4SS-150 240 3NS3 400 40 1
¢ J5 Dif: 0 NS:2 3NS4 630 2.0 1 +» KQ96 Dif: 0 NS:-7  3NN3 400 40 2
» A865 IMP: 0 EW:-2 4HN-1 100 -12.0 1 » K63 IMP: 0 EW:7 4SS-1 50 7.0 4
» AT74 N # J85 s AJ7 » 82 3NS-2 100 -80 1
v KT2 v 86 v Q642 v T53
+ Q984 + ¢ T32 o JT ¢ A8732
& T7 & QJ942 & QT97 & J52
*eveN L, KQ63 ®+veN L KQ654
N ~~4~4 ¢543 N ~~~42 v KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢54
E ~~~~~ aK3 E ~~~~~ aA84
W~~~~~ W~~~~~




X AN >\ 4 —_—
10 114&;«1i\wfgﬁﬁ-% AR = R0 10
1 O NS: BEEAEH g%{ﬁ%(]%ﬁ@ 9 3 NS: TEH iEE.I(EﬁO) 3 P:| 13.72 : 6.28 Total VP: 111.89 Rank:
EW: R854 o[ ZE(BFO) -3 EW: #X{E #{"E(FC) -9 IMP:| 25 14 4
I N
# 21 » 87 4SW4 420 Mean: 4SW4 420 1.0 1 ||# 22 & KT942 4SN-2 100 Mean: 3HW-2 200 60 1
v A864 4SW5 450 -450 4SE4 420 10 1 v K6 3SN-2100 -60  3HW-1 100 40 1
+ QT764 Dif: -30 NS:0 4SW5 450 0.0 7 » AJB2 Dif: 0 NS:-1  3SN-1 50 0.0 3
» 86 IMP: -1 EW:-1 4SE5 450 0.0 2 & T3 IMP: 0 EW:1  2SN-1 50 0.0 2
» KQ952 s AJ43 4SW6 480 1.0 3 Q6 # J85 4SN-2 100 1.0 1
v K7 v QJT2 v Q9743 —_ v AT8 3SN-2 4100 1.0 1
*J | ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 3CE3 110 20 1
®IVeN ,T6 PIVEON LAT3 2HW4 170 30 1
N ~1~~~ 9953 N ~1~1~ ¢J52 3HWS5 200 -40 1
S ~1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 4SW6 680 Mean: 5CE6 -620 70 1 # 24 » Q4 3NW3 400 Mean: 4HW-5 250 70 1
v 976432 6CE7 1390 -910 4SWé6 -680 6.0 2 v 9842 3NW-2 100 -20 3NW-3 150 50 1
¢ J542 Dif: -710 NS:-10 4SW5 650 6.0 6 ¢ 98 Dif: 500 NS:3 5DW-2 100 30 1
a2 IMP: -12 EW:-6 6CE7 1390 -10.0 1 a J7532 IMP: 11 EW:9 3NW-2 100 30 4
& AK873 a J94 6CE6 <1370 -10.0 3 ||a& J2 & AT75 3NE-1 50 20 3
v + v K85 6SW6 1430 -11.0 1 ||v JT53 v KQ7 2NE5 210 50 1
+ Q97 + K6 + AKQT2 ¢ J764 3NW3 400 90 1
& KQ543 S & AJ976 &8 & K9 3NE4 430 9.0 1
®IVEeN o652 ®IVEN L K863 3NE3 400 9.0 1
N ~~~~~ vAQJT N 3~~~~ ¢A6
S ~~~~~ 4ATS83 S 3~~~~ 453
E 6~~55 aT8 E ~43~2 & AQT6
W 6~~54 W ~32~+~
# 25 » 9872 4SE5 650 Mean: 7SE-1 100 13.0 1 [|# 26 » 52 2SW2 110 Mean: 3SW-2 200 50 2
v J7 7NW-1-100 -720  7NW-1 100 13.0 2 v AKQ9 2SW2110 o0 3SW-1 100 30 1
+ KT64 Dif: 750 NS:13 6SE-1 100 13.0 1 + K65 Dif: 0 NS:-3 2SW-1 100 30 1
» K73 IMP: 13 EW:-2 4SE5 650 20 1 a J972 IMP: 0 EW:3 2CS2 90 30 1
46 & AKQJT53 5SE6 680 1.0 1 ||s AKQ986 a J4 1NS1 90 30 1
v AT986 v Q4 4SW6 680 1.0 1 ||v 76 + v 8543 3HN-1 100 -30 1
+ AJ3 + Q5 4NW6 690 1.0 1 ||e QT84 ¢ 932 3CS-1 100 -30 5
& QJT9 & A8 4SE7 710 00 1 ||a K & QT83 2sW2 110 30 2
®IVEON o4 6SE6 1430 -12.0 5 PEVEN L,T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~ ~ 49872 S 2~2~1 ¢AJS
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 & AQ5 4HW-1 -50 Mean: 5CXS5 550 9.0 1 ||# 28 a A9 3NS5 -660 Mean: 5HXE-4 800 7.0 1
v4 4HW-1-50 170  5CXN5 550 9.0 3 oT 3NS4-630 510 4SS5 650 4.0 1
¢ 65 Dif: 0 NS:-3 3CN4 130 1.0 1 » QJ974 Dif: -30 NS:3 3NS5 660 4.0 1
a J987632 IMP: 0 EW:3 5HE-2 100 20 1 » AQT76 IMP: -1 EW:-4 5DN5 600 3.0 2
# K8762 » 94 4HXE-1 100 2.0 1 ||a J742 4 T8 484 620 3.0 2
v KQ73 v A9865 4HW-1 50 3.0 3(|v95 I v KQ86432 3NS4 630 3.0 2
¢ J82 + KQT4 4HE-1 50 -3.0 2 [|e K863 * A 3NS3 600 3.0 2
a4 & KT 3HE3 140 7.0 2 ||a& J92 & 854 4HXE-3 500 0.0 1
®PIVEeN LJT3 ®4¢VeEN L, KQ653 4DN5 150 8.0 1
N 5~~~2 ¢JT2 N 55~44 o AJ7 6NXS-2 500 140 1
S 5~~~2 ¢A973 S 55~44 o7T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 » 92 4HN4 -620 Mean: 4HNS5 650 20 1 # 30 & T93 3NS3 -400 Mean: 4SS4 420 50 6
v AQJ97 4HN4 -620 570  4HN4 620 20 1M v A97 4SS4 -420 240  3NS3 400 40 1
¢ J5 Dif: 0 NS:2 3NS4 630 2.0 1 +» KQ96 Dif: 20 NS:5 3NN3 400 40 2
» A865 IMP: 0 EW:-2 4HN-1 100 -12.0 1 » K63 IMP: 1 EW:-4 4SS-1 50 7.0 4
s AT74 N # J85 s AJ7 » 82 3NS-2 100 -80 1
v KT2 v 86 v Q642 v T53
+ Q984 + ¢ T32 o JT ¢ A8732
& T7 & QJ942 & QT97 & J52
®IveN LKQ63 ®+VveN L KQ654
N ~~4~4 ¢543 N ~~~42 v KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢+54
E ~~~~~ aK3 E ~~~~~ aA84
W~~~~~ W~~~~~




X AN >\ 4 —_—
10 114&;«1i\wfgﬁﬁ-% AR ==> RI0 10
1 1 NS: gj‘{ﬁgﬁﬂzﬁ(ﬁﬁ@ -2 8 NS: Zif3] KEBE#E(E%O) -1 P:| 11.85 : 8.15 | Total VP: 98.49 Rank:
EW: Z#FE FREEI0) 10 EW: R5hE 151#EE(BAC) 2 IMP:| 28 23 7
I - N
# 21 » 87 4SW5 450 Mean: 4SW4 420 1.0 1 ||# 22 & KT942 3HW3 140 Mean: 3HW-2 200 60 1
v A864 4SE4 420 -450 4SE4 420 10 1 v K6 3CE3110 -60  3HW-1 100 40 1
¢ QT764 Dif: 30 NS:1  4SW5 450 00 7 » AJB2 Dif: 30 NS:-2 3SN-1 50 0.0 3
» 86 IMP: 1 EW:0 4SE5 450 0.0 2 a T3 IMP: 1 EW:2 2SN-1 50 0.0 2
» KQ952 s AJ43 4SW6 480 1.0 3 Q6 4 J85 4SN-2 100 1.0 1
v K7 v QJT2 v Q9743 —_ v AT8 3SN-2 100 1.0 1
*J | ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 3CE3 110 20 1
®¢VeN ,T6 PIVEON LAT3 2HW4 170 30 1
N ~1~~~ 9953 N ~1~1~ ¢J52 3HW5 200 -40 1
S ~1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 6CEG6 1370 Mean: 5CE6 -620 70 1 # 24 » Q4 2NE5 210 Mean: 4HW-5 250 70 1
v 976432 6CE6 1370 -910  4SW6 680 6.0 2 v 9842 3NE3 400 -20 3NW-3 150 50 1
¢ J542 Dif: 0 NS:-10 4SW5 650 60 6 ¢ 98 Dif: -190 NS:-9 5DW-2 100 30 1
a2 IMP: 0 EW:10 6CE7 1390 -10.0 1 a J7532 IMP: -5 EW:5 3NW-2 100 30 4
& AK873 a J94 6CE6 <1370 <100 3 ||a J2 & AT75 3NE-1 50 20 3
v + v K85 6SW6 1430 -11.0 1 ||v JT53 v KQ7 2NE5 210 50 1
+ Q97 + K6 + AKQT2 ¢ J764 3NW3 400 9.0 1
& KQ543 S & AJ976 &8 & K9 3NE4 430 9.0 1
®eveN o652 ®¢VveN L K863 3NE3 400 9.0 1
N ~~~~~ vAQJT N 3~~~~ 9A6
S ~~~~~ 4ATS83 S 3~~~~ 453
E 6~~55 aT8 E ~43~2 & AQT6
W 6~~54 W ~32~+~
# 25 » 9872 4SE7 710 Mean: 7SE-1 100 13.0 1 ||# 26 » 52 3SW-2 -200 Mean: 3SW-2 200 50 2
v J7 7NW-1-100 -720  7NW-1 100 130 2 v AKQ9 2CS2-90 0 3SW-1 100 30 1
+ KT64 Dif: 810 NS:13  6SE-1 100 130 1 + K65 Dif: -110 NS:3  2SW-1 100 30 1
» K73 IMP: 13 EW:0 4SE5 650 2.0 1 » J972 IMP: -3 EW:-5 2CS2 90 30 1
46 & AKQJT53 5SE6 680 1.0 1 ||s AKQ986 » J4 1NS1 0 30 1
v AT986 v Q4 4SW6 680 10 1 ||v 76 + v 8543 3HN-1 100 3.0 1
+ AJ3 ¢ Q5 4NW6 690 10 1 ||e QT84 ¢ 932 3CS-1 100 30 5
& QJT9 & A8 4SE7 710 00 1 ||aK & QT83 2sW2 110 30 2
®IVEON o4 6SE6 1430 -12.0 5 PEVEN L,T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~~ 49872 S 2~2~1 ¢AJS
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 » AQ5 3HE3 140 Mean: 5CXS5 550 9.0 1 ||# 28 » A9 4SS4 -620 Mean: 5HXE-4 800 7.0 1
v4 5CXN5 -550 170  5CXN5 550 9.0 3 T 6NXS-2500 510 4SS5 650 4.0 1
4 65 Dif: 690 NS:9 3CN4 130 1.0 1 » QJ974 Dif: -1120 NS:-14 3NS5 660 40 1
» J987632 IMP: 12 EW:7 5HE-2 100 20 1 » AQT76 IMP: -15 EW:-3 5DN5 600 3.0 2
# K8762 94 4HXE-1 100 2.0 1 ||a J742 s T8 484 620 3.0 2
v KQ73 v A9865 4HW-1 50 -30 3||v95 | v KQ86432 3NS4 630 3.0 2
¢ J82 + KQT4 4HE-1 50 -3.0 2 ||e K863 * A 3NS3 600 3.0 2
a4 & KT 3HE3 140 7.0 2 ||a& J92 & 854 4HXE-3 500 0.0 1
*eveN LJT3 PIVEN L KQ653 4DN5 150 80 1
N 5~~~2 ¢JT2 N 55~44 o AJ7 6NXS-2  -500 -14.0 1
S 5~~~2 ¢A973 S 55~44 o7T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 » 92 3NS4 -630 Mean: 4HNS5 650 20 1 # 30 & T93 3NN3 -400 Mean: 4SS4 420 50 6
v AQJ97 4HN4 -620 570  4HN4 620 20 11 v A97 4SS4 -420 240  3NS3 400 40 1
¢ J5 Dif: -10 NS:2 3NS4 630 20 1 +» KQ96 Dif: 20 NS:5 3NN3 400 40 2
» A865 IMP: 0 EW:-2 4HN-1 100 120 1 » K63 IMP: 1 EW:-4 4SS-1 50 7.0 4
» AT74 N # J85 s AJ7 » 82 3NS-2 100 -80 1
v KT2 v 86 v Q642 v T53
+ Q984 + ¢ T32 o JT ¢ A8732
& T7 & QJ942 & QT97 & J52
*eveN L, KQ63 ®+veN L KQ654
N ~~4~4 ¢543 N ~~~42 v KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢54
E ~~~~~ aK3 E ~~~~~ &A84
W~~~~~ W~~~~~




St - - 2
10 1143;”\1319?];}%%%% 2R 2 = RI0 10
1 2 NS: B S ﬁﬁ;ﬁ(ﬁﬁ@ 3 1 NS: FR#t %ﬁE(EﬁO) 12 P:| 7.82 : 12.18| Total VP: 82.89 Rank:
EW: BRIGEE B8 2@EH0) -12 EW: % &8 ZHE(FC) -3 IMP:| 16 22 13
I - N
# 21 » 87 4SW5 450 Mean: 4SW4 420 1.0 1 ||# 22 & KT942 3HW3 140 Mean: 3HW-2 200 60 1
v A864 4SE5 450 -450 4SE4 420 10 1 v K6 2SN-150 -60  3HW-1 100 40 1
¢ QT764 Dif: 0 NS:0 4SW5 450 0.0 7 » AJ82 Dif: 90 NS:0 3SN-1 50 0.0 3
& 86 IMP: 0 EW:0 4SE5 -450 0.0 2 & T3 IMP: 3 EW:2 2SN-1 50 0.0 2
» KQ952 s AJ43 4SW6 480 1.0 3 Q6 » J85 4SN-2 100 1.0 1
v K7 v QJT2 v Q9743 —_— v AT8 3SN-2 4100 1.0 1
*J | * 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 3CE3 110 20 1
®IVeN ,T6 POVEN LAT3 2HW4 170 3.0 1
N ~1~~~ 9953 N ~1~1~ ¢J52 3HWS5 200 -40 1
S ~1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 4SW5 650 Mean: 5CE6 -620 70 1 # 24 » Q4 3NW-2 -100 Mean: 4HW-5 250 70 1
v 976432 4SW5 650 -910 4SW6 -680 6.0 2 v 9842 5DW-2 -100 -20 3NW-3 150 50 1
¢ J542 Dif: 0 NS:6 4SW5 650 6.0 6 ¢ 98 Dif: 0 NS:3 5DW-2 100 30 1
a2 IMP: 0 EW:-6 6CE7 1390 -10.0 1 » J7532 IMP: 0 EW:-3 3NW-2 100 30 4
& AK873 s J94 6CE6 <1370 -10.0 3 ||a& J2 & AT75 3NE-1 50 20 3
v + v K85 6SW6 1430 -11.0 1 ||v JT53 v KQ7 2NE5 210 50 1
* Q97 + K6 + AKQT2 ¢ J764 3NW3 400 90 1
& KQ543 S & AJ976 &8 & K9 3NE4 430 9.0 1
®IVEeN o652 ®IVEN L K863 3NE3 -400 9.0 1
N ~~~~~ o AQJT N 3~~~~ o A6
S ~~~~~ 4AT83 S 3~~~~ o653
E 6~~55 T8 E ~43~2 &AQT6
W 6~~54 W ~32~+~
# 25 » 9872 6SE6 1430 Mean: 7SE-1 100 13.0 1 [|# 26 » 52 3SW-2 -200 Mean: 3SW-2 200 50 2
v J7 4SW6 680 -720  7NW-1 100 13.0 2 v AKQ9 3CS-1100 o0 3SW-1 100 30 1
+ KT64 Dif: 750 NS:1  6SE-1 100 13.0 1 + K65 Dif: -300 NS:-3 2SW-1 100 30 1
» K73 IMP: 13 EW:12 4SE5 650 20 1 » J972 IMP: -7 EW:-5 2CS2 90 30 1
46 & AKQJT53 5SE6 680 1.0 1 ||s AKQ986 a J4 1NS1 90 30 1
v AT986 v Q4 4SW6 680 1.0 1 ||v 76 _I_ v 8543 3HN-1 100 -30 1
+ AJ3 + Q5 4NW6 690 1.0 1 ||e QT84 + 932 3CS-1 100 -30 5
& QJT9 & A8 4SE7 710 00 1 ||a K & QT83 25W2 110 30 2
®IVEON o4 6SE6 1430 -12.0 5 PEVEN L,T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~ ~ 49872 S 2~2~1 ¢AJS
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 » AQ5 5HE-2 -100 Mean: 5CXS5 550 9.0 1 ||# 28 » A9 5HXE-4 -800 Mean: 5HXE-4 800 7.0 1
vid 4HXE-1-100 170  5CXN5 550 9.0 3 T 3NS3 -600 510 4SS5 650 4.0 1
¢ 65 Dif: 0 NS:-2 3CN4 130 1.0 1 » QJ974 Dif: -200 NS:3 3NS5 660 4.0 1
» J987632 IMP: 0 EW:2 5HE-2 100 2.0 1 & AQT76 IMP: -5 EW:-7 5DN5 600 3.0 2
» K8762 » 94 4HXE-1 100 2.0 1 ||a J742 4 T8 4S5S4 620 3.0 2
v KQ73 v A9865 4HW-1 50 3.0 3(|v95 I v KQ86432 3NS4 630 3.0 2
* J82 + KQT4 4HE-1 50 -3.0 2 [|e K863 * A 3NS3 600 3.0 2
a4 & KT 3HE3 140 7.0 2 ||a& J92 & 854 4HXE-3 500 0.0 1
®PIVEeN LJT3 ®4¢VeEN L, KQ653 4DN5 150 -8.0 1
N 5~~~2 oJT2 N 55~44 o AJ7 6NXS-2 500 140 1
S 5~~~2 ¢A973 S 55~44 4 T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 » 92 4HN4 -620 Mean: 4HNS5 650 20 1 # 30 & T93 4SS4 -420 Mean: 4SS4 420 50 6
v AQJ97 4HN4 -620 570  4HN4 620 20 1M v A97 4SS-150 240 3NS3 400 40 1
¢ J5 Dif: 0 NS:2 3NS4 630 2.0 1 + KQ96 Dif: -470 NS:-7 3NN3 400 40 2
» A865 IMP: 0 EW:-2 4HN-1 -100 -12.0 1 » K63 IMP: -10 EW:-5 4SS-1 50 7.0 4
s AT74 ] 4 J85 a AJ7 » 82 3NS-2 100 -80 1
v KT2 v 86 v Q642 v T53
+ Q984 + ¢ T32 o JT ¢ A8732
& T7 & QJ942 & QT97 & J52
®IveN LKQ63 ®+VveN L KQ654
N ~~4~4 ¢543 N ~~~42 ¢ KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢+54
E ~~~~~ aK3 E ~~~~~ aA84
W~~~~~ W~~~~~




X AN >\ 4 —_—
10 114&;«1i\wfgﬁﬁ-% AR = R0 10
1 3 NS: Hhx8 gﬂiﬁ(]%ﬁC) 16 2 NS: BRZE/L F§¥§(Eﬁo)4 P:| 4.71 : 15.29| Total VP: 97.98 Rank:
EW: BEE 2 B EI0) 4 EW: A& &% HM(BAC) 16 IMP:| 6 23 8
I - N
# 21 » 87 4SW5 450 Mean: 4SW4 420 1.0 1 ||# 22 & KT942 3SN-1 50 Mean: 3HW-2 200 60 1
v A864 4SW5 450 -450  4SE4 420 10 1 v K6 3HW-2 -200 -60  3HW-1 100 40 1
¢ QT764 Dif: 0 NS:0 4SW5 450 0.0 7 » AJB2 Dif: 250 NS:6 3SN-1 50 0.0 3
» 86 IMP: 0 EW:0 4SE5 450 0.0 2 & T3 IMP: 6 EW:0 2SN-1 50 0.0 2
» KQ952 s AJ43 4SW6 480 1.0 3 Q6 # J85 4SN-2 100 1.0 1
v K7 v QJT2 v Q9743 —_ v AT8 3SN-2 4100 1.0 1
*J | ¢ 82 + KQ7 ¢ T5 3HW3 140 20 2
& KJ972 & AT3 & A42 & KJ985 3CE3 110 20 1
®IVeN ,T6 PIVEON LAT3 2HW4 170 30 1
N ~1~~~ 9953 N ~1~1~ ¢J52 3HWS5 200 -40 1
S ~1~~~ ¢ AK953 S ~1~1~ 49643
E 5~~51 Q54 E 3~3~1 Q76
W 5~~51 W 3~3~2
# 23 » QT 4SW5 650 Mean: 5CE6 -620 70 1 # 24 » Q4 3NW-2 -100 Mean: 4HW-5 250 70 1
v 976432 4SW5 650 -910 4SW6 -680 6.0 2 v 9842 3NW-2 100 -20 3NW-3 150 50 1
¢ J542 Dif: 0 NS:6 4SW5 650 6.0 6 ¢ 98 Dif: 0 NS:3 5DW-2 100 30 1
a2 IMP: 0 EW:-6 6CE7 1390 -10.0 1 a J7532 IMP: 0 EW:-3 3NW-2 100 30 4
& AK873 a J94 6CE6 <1370 <100 3 ||a J2 & AT75 3NE-1 50 20 3
v + v K85 6SW6 1430 -11.0 1 ||v JT53 v KQ7 2NE5 210 50 1
+ Q97 + K6 + AKQT2 ¢ J764 3NW3 400 90 1
& KQ543 S & AJ976 &8 & K9 3NE4 430 9.0 1
®IVEeN o652 ®¢VveN L K863 3NE3 400 9.0 1
N ~~~~~ o AQJT N 3~~~~ o A6
S ~~~~~ 4AT83 S 3~~~~ o653
E 6~~55 aT8 E ~43~2 & AQT6
W 6~~54 W ~32~+~
# 25 » 9872 6SE6 1430 Mean: 7SE-1 100 13.0 1 [|# 26 » 52 3CS-1100 Mean: 3SW-2 200 50 2
v J7 6SE6 1430 -720  7NW-1 100 13.0 2 v AKQ9 3CS-1100 o0 3SW-1 100 30 1
+ KT64 Dif: 0 NS:-12 6SE-1 100 13.0 1 + K65 Dif: 0 NS:-3 2SW-1 100 30 1
» K73 IMP: 0 EW:12 4SE5 650 20 1 a J972 IMP: 0 EW:3 2CS2 90 30 1
46 & AKQJT53 5SE6 680 1.0 1 ||s AKQ986 a J4 1NS1 90 30 1
v AT986 v Q4 4SW6 680 10 1 ||v 76 + v 8543 3HN-1 100 -30 1
+ AJ3 + Q5 4NW6 690 1.0 1 ||e QT84 ¢ 932 3CS-1 100 -30 5
& QJT9 & A8 4SE7 710 00 1 ||aK & QT83 2sW2 110 30 2
®IVEON o4 6SE6 1430 -12.0 5 PEVEN L,T73
N ~~~ ~ ~ ¢ K532 N 2~2~1 ¢JT2
S ~~~~ ~ 49872 S 2~2~1 ¢AJS
E 4~566 6542 E ~1~1~ & A654
W 5~666 W -~1~1~
#27 » AQ5 3CN4 -130 Mean: 5CXS5 550 9.0 1 ||# 28 » A9 4SS5 -650 Mean: 5HXE-4 800 7.0 1
v4 4HE-1-50 170  5CXN5 550 9.0 3 oT 4DN5 -150 510 4SS5 650 4.0 1
¢ 65 Dif: -80 NS:-3 3CN4 130 1.0 1 » QJ974 Dif: -500 NS:-8 3NS5 660 4.0 1
a J987632 IMP: -2 EW:1 5HE-2 100 20 1 » AQT76 IMP: -11 EW:-4 5DN5 600 3.0 2
# K8762 94 4HXE-1 100 2.0 1 ||a J742 s T8 484 620 3.0 2
v KQ73 v A9865 4HW-1 50 3.0 3(|v95 I v KQ86432 3NS4 630 3.0 2
¢ J82 + KQT4 4HE-1 50 -3.0 2 [|e K863 * A 3NS3 600 3.0 2
a4 & KT 3HE3 140 7.0 2 ||a& J92 & 854 4HXE-3 500 0.0 1
®PIVEeN LJT3 ®4¢VeEN L, KQ653 4DN5 150 8.0 1
N 5~~~2 ¢JT2 N 55~44 o AJ7 6NXS-2  -500 -14.0 1
S 5~~~2 ¢A973 S 55~44 o7T52
E ~131~ aAQ5 E ~~~~~ aK3
W ~131-~ W ~~~~~
# 29 » 92 4HN4 -620 Mean: 4HNS5 650 20 1 # 30 & T93 4SS4 -420 Mean: 4SS4 420 50 6
v AQJ97 4HN4 -620 570  4HN4 620 20 1M v A97 4SS-150 240 3NS3 400 40 1
¢ J5 Dif: 0 NS:2 3NS4 630 2.0 1 +» KQ96 Dif: -470 NS:-7  3NN3 400 40 2
» A865 IMP: 0 EW:-2 4HN-1 100 -12.0 1 » K63 IMP: -10 EW:-5 4SS-1 50 7.0 4
s AT74 N # J85 s AJ7 » 82 3NS-2 100 -80 1
v KT2 v 86 v Q642 v T53
+ Q984 + ¢ T32 o JT ¢ A8732
& T7 & QJ942 & QT97 & J52
®IveN LKQ63 ®+VveN L KQ654
N ~~4~4 ¢543 N ~~~42 v KJ8
S ~~ 4~ 4 ¢ AK76 S ~~~42 ¢+54
E ~~~~~ aK3 E ~~~~~ aA84
W~~~~~ W~~~~~




X AW >\ 4 —_—
10 114&;«1i\wfgﬁﬁ-% AR = R0 10
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